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1. Give very short answer : o 1x12=12

Tt AFwe Ted qie ¢

(a) What is the essence of induction proper?

Fie SIS 6 e Bl 2

(b) s perfect induction an induction proper ?

#ef Spsie T SoEH T H 2

(c) What is the ground of Analogy?

f“ﬁxj t*}‘s (:]2_1 i\:j &S %T ?

(d) “A cause is the sum-total of conditions positive and

negative taken together” — who said the statement?

‘TR T ST ¢ ARTFERTE SATHE AR 7 — FiE COfE ¢

27T LOPH (BENG) (2]



(e) “The law of causation is the material ground

induction” — is it true?

Tl {fEF o e qeste fBfe” — 9t 1 em 2

(/ What is Vera Causa’?

QEE FEY FC A0 2

(9) What is the meaning of the Latin word ‘Mores’?

~

6T ‘Mores’ *[F b4 wief F 2

(h) Who is the founder of Scientific realism ?

AT IEAEE oS (& B 2

of
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() “Observation is finding a fact and experiment is making

one” — Who said this?

ST 25 9o Sl e A =5 WA 7R — Tl B 0

() How many purusarthas are there ?

Al = AFIET 2

(k) Is ethics a positive science ?

SR N Faaf Re ¢

»

() From which Sanskrit root the word ‘Dharma’ is derived ?

(Tl FES 49 (AT« ==oa Tua Ay ?
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2. Define scientific induction ? 2

(et SeEg AEE @l |

3. Explain very briefly why the conclusion of unscientific

induction is probable. | 2

GElEE e Fale @9 TSRS 2 SIS AT IR TE |

4. Why observation and experiment are called the material

grounds of induction ? _ 2

A @ (G (e SoE SRt Il fofe <=1 < ¢

5. State two advantages of simple observation. 2

TRE el 7l R Kaw T Sl
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What do you mean by ‘Paradox of Induction’?

“ SetE R 90 S @R?

6. Mention two features of scientific realism.

T e 5 ERe T S|

7. Defline primary qualitiés with examples..

RIS SRR, el (Il |

«

8. What is the meaning of ‘esse est percipii’ ?

‘AereE 98 w52t o1 F ¢
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9

10.

11.

12.

Name the form of idealism with which dialectical method is
associated. State the name of the philosopher who advocated

this method. beD

TYPET “Mafod (e 7 wios SRamE e 9 @ | «3
i (ool T wHREE T @ |

State two features of objective idealism. 2

qEIS S 7/ ARHT S @l |

Why is habitual action considered as an object of moral

judgement ? . 2
TGS THE s SRR Famag aeE @ sioy ) 57 2
State the second canon of elimination. .Name the

experimental method which is based on this canon of

elimination. g 1+1=2
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2k [ B B e U e e R N e e e B T e Ao e v e
2efieTiiog 9 el |

Or / <

State one advantage of the method of Agreement. Why is this

method called the method of discovery ?

S AN 9FE ARAE T TR | G AR (@ SNEHEE w
T =27 e

13. State {wo points of difference between inductive and

deductive inference. . ) 2

ST & NS SRl = 7o #A1K&y Sz el |

14. Explain the meaning of ‘Varnasrama dharma’. 4

effest «f-am wel gl v |
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15. State Flint’s definition of religion. : 4

£~

sl TS f3F

T 2We Fe@ba Srmd T |
Or / 921

Mention any four characteristics of religion. 4

@ 516 3 Sy @

16. Mention two practical imperfections of the method of

Agreement. - 4,

ol smfen 75 aREE Sifel T Tl

17. State two points of similarity between religion and morality.

2+2=4
&l @ TR 7o AMCIR S I |
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State four points about the nature of hypothesis.

AFER AT T 51F6 T e S |

18. Distinguish between good analogy and bad analogy. 4
TP @ AT W AL (e |

Or / <

Distingu‘ish between cause and condition.

I @ TR T AL (FAS |

19. State along with brief explanations about the four conditions

of a legitimate hypothesis. : 4

TR T @0 @Y AERE 5FG S S = |
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20. Write short note on the fallacy of post hoc ergo propter hoc.

4

IS (T T GoS ee Tl |

21. Name the theory which states that external world can be
known directly as it really is. Also, define this theory and

state one important drawback of this theory. 1+2+1=4

NI Titss 2P T derFelE il FE A0 SRS ogid w1 @l ;

<2 g wRe! e @3 @b e SRyl T S |

22. Write short note on “conflict of desires”. 4

‘T TES A @0 7S Bl el
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23.

24.

Or / 24!

What is voluntary action ? State the three stages of voluntary

action. _ : 1+3=4

afzr el FiE e @ aives faram wa fem/G T el |

Define Berkeley’s Subjective Idealism. Is Berkeley a solipsist ?

2+2=4

IFT SR SRR @l @Rl | e B GG ST w2

Define unscientific induction with example. State why it is
called ‘Unscientific’? Mention briefly three characteristics of

unscientific induction. 2+1+3=6

Tuizd g SiaeESE SeNEd TG @Il | G2 S=ed e (B
SR ST T T @] | SR S e (RS el

T Fed
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Define Analogy with example. Explain the characteristics of

Analogy. | 2+4=6

TR R AT SR @ (ST | S Sl sl e
Iyl @ | |

25. Define cause after Carveth Read and explain briefly the

qualitative marks of a cause. - 2+4=6

Carveth Read &4 I IIGET HALeR| @ | FEET woisis srapeiesfe
ACEFC?] [T B¢ .
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What is experiment ? What are the advantages of experiment

over observation ? _ : 2+4=6
o R 2 IR oA ATECE gRaeR S e
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26.

Define hypothesis with  a scientific example. Explain -
hypothesis concerning law and hypothesis concerning

collocation. | g inls  2+4=06

¢

g6 TuiEaeTR FEd kel wie | N R e e lifeiie ke
Tz olvm & i =l |

Or / T«

What are the different kinds of hypothesis according to

Stebbing ? Explain each of them with example. 2+4=6

.

Stebbing -9 s [f$w «qreg gsele F| F) ¢ Tnizaez dfeia il
3l | |

. State Mill’s Canon of the method of Difference. Describe

briefly four disadvantages or defects of this method.

. , D+4=6
TS AT TrE Fem E T TE | OEE 6T 519
SR ARCECE 30T FAI
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Or / «z<]

Explain the method of Residues with example. Do you think

it to be an improvement upon the method of Difference ?

Explain. 2+4=6

THiRgel TR ARCIT AR <<l el | G2 ~mfs AoEF ~1wfen @76 Tas
ALHAY T W FCE@ ST 2 AR BEI |
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